Back Cane Attaching Hardware

Fixed Back (FXBACK)

<
N~
o
-
=
(&3
w




Back Cane Attaching Hardware

Fixed Back (FXBACK)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1164103 Kit, Back Cane Attaching Hardware, Fixed 1 1
2 Plate, Fixed Back, Black 1 2
3 Screw, Hex Head (1/4-28 x 2") 1 1
4 Bracket, Backrest, Black 1 2
5 Screw, Hex Head (1/4-28 x 2") 1 1
6 Screw, Hex Head (1/4-28 x 2-1/4") 1 2
7 NLA - Washer, Steel (1/4 x 1/2 x 3/64") 1 2
8 Uni-Washer, Dual 1 1
9 Washer, Steel (1/4 x 5/8 x 3/32") 1 2
10 Nut, Hex Nylon (1/4-28) 1 1
11 Locknut (1/4-28) 1 1
12 Locknut, Thin (1/4-28) 1 1
13 Uni-Washer, Coved 1 2
14 NLA - Bushing, Nylon (1/4 x 3/8 x 1-1/4") 1 1
15 Screw, Socket Button Head (1/4-20 x 1-3/4") 1 1
16 Locknut, Thin (1/4-20) 1 1
17 Nut, Hex Nylon (1/4-28) 1 1

NOTE: A -Includes items 2 - 17. Hardware quantity accommodates one side only.




